LUGARI DISTRICT JOINT END OF YEAR EXAMINATIONS

FORM 2 MATHEMATICS

TIME 2 ½ HOURS

INSTRUCTIONS 
· Answer ALL the question in section I and II

· Show all the steps in your calculation, giving your answers at each stage in the spaces provided below each question

· Marks may be awarded for correct working even if the answers is wrong
SECTION 1 (50 MARKS)
1. Use logarithms tables to evaluate the following showing all the steps.       ( 4mks)


4          3.45
             786 x 0.007
2. Find the equation of the line passing through (1,-2) and is parallel to the line 2y -3x + 4 = 0. Express your answer in the form ay + ax + c = 0    
( 4mks)

3. The volume of water is measuring cylinder reads 200cm3. When a cube is immersed into the water, the cylinder reads 543cm3. Find

a) the volume of the cube





( 1 mk)


b) The length of the side of the cube



           ( 2mks)

4. Two similar cylindrical contains A and B have cross-section area in the ratio 9:16.

a) Determine the linear scale factor




( 1mk)

b) Find the radius of containers A if that of container b is 12cm      ( 2mks)


5. If sin A = 3/5 without using a calculator or mathematical tables find

a) Cos A







( 1mk)

b) Tan (90-A)






           ( 2mks)

c) Tan2A






         ( 2mks)

6. Simplify   5122/3  x 81/3   ÷ 26




                       ( 6mks)

7. Find the area of regular hexagon of side 4.8cm


           ( 3mks)

8. Solve the quadratic equation (2x-1)2 – 1= 3


           ( 4mks)

9. From the top of a tower the angle of depression of a boat is 300. If the tower is 40m high how far is the boat from the foot of the tower?

                       ( 3mks)

10.  The ration of (x+y) : (2x – y) = 5:6, find the ratio of x:3y

          ( 3mks)

11. A two number is such that the sum of its digits is 12. The difference between the number and the number formed when the digits are changed is 18. Find the product of its digits.









( 3mks)

12. A car left a station at 10:30 am at a constant speed of 70km/h forty minutes later, a police pursues it from the station at a constant speed of 96kn/h. Find 

a) The distance from the station to the point where the patrol car caught up with the car.








( 3mks)

b) The time at which the police patrol car caught up with the car.
(1mk)

13. The figure below shows a regular pack of sides 6cm


                               6cm                              6cm




                         6cm


a) Sketch the net of the solid





( 1mk)


b) Find the surface area of the solid




( 1mk)

14. Ex[press 10.48 as a mixed number




( 3mks)

15. In the figure below ABCD is a regular pentagon and M is the mid point of AB, DM intersects EB at N.

    E
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Find the size of



a) <BAE







( 1mk)



b) <BED







( 1mk)



c) <BNM







( 1mk)

16. Solve the following inequality and illustrate your answer on a number line 2x + 3>5x - 3>-8







           ( 3mks)

SECTION B  (50 MARKS)
17. The figure below shows a solid cone of base radius 28cm and slant side 35cm. At a point P 14cn vertically below the vertex, the cone is cut across to form a smaller cone.


         14cm
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R=28



Calculate 

a) The radius of the smaller cone



           ( 4mks)

b) The total surface of the frustum when the smaller cone is removed

( 6ks)

18. Te table below gives the marks scored by 40 students in a mathematics test

	Class
	1-10
	11-20
	21-30
	31-40
	41-50
	51-60
	61-70
	71-80
	81-90

	No. of students
	1
	3
	4
	5
	9
	6
	5
	3
	4


a) State the modal class






( 1mk)

b) Estimate


i) The median marks






( 3mks)


ii) The mean







( 4mks)

  c) Draw a Histogram doe data above



 
 ( 2mks)

19. In the figure below, O is the centre and PS is the diameter of the circle. OR is the parallel to PS. If and PSR is 250 and <POT = 120
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Find the sizes of the following angkles. Stating resons




a) <QRT





           ( 3mks)




b) QPT






           ( 2mks)




c) <RQR





          ( 3mks)



d) <PTR






( 2mks)

20. Use a ruler and pair of compasses only

a) construct a triangle ABC in which AB = 4.6cm, BC = 5.4cm and <ABC 750, Draw a circle to pass the vertices of the triangle, Measure its radius.   ( 6mks)

b) Drop a perpendicular from B to meet at N. Measure BN hence calculate the area of the triangle ABC






   ( 4mks)

21. a) Plot and draw trapezium ABCD where A(1,2) B(3,2) C(4,4) and D(0,4) on a graph paper 







( 2mk)

      Write down the image co-ordinates and draw images on the same set of axes    

       when trapezium ABCD is reflected in the lines shown.


b) Trapezium ABCE undergoes reelection in the line y =0 to give A1B1C1D1

  








(3mks)


c) Image A1B1C1D1 undergoes reflection in the line y= x to give A2B2C2D2










( 3mks)


d) Draw and state equation of the line of symmetry of trapezium A1B1C1D1










( 2mks)


e) Use trapezium above to state one pair of the trapezium that are oppositely 

           congruent 








( 1mk)
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